
 

DELTA ELEKTRONIKA B.V.                        Vissersdijk 4, 4301 ND                 www.DeltaPowerSupplies.com 
          DC POWER SUPPLIES                                               Zierikzee, the Netherlands           Tel. +31 111 413656 

 
 
 
 
SM15K – Master/Slave Assembly Kits 
• M/S PAR SET C2...C12 

• M/S PAR – CONNECTING 2 RACKS 
 

 

 
 

APPLICATION NOTE 

Revision 2024/05 

Contents: 

1 – M/S PAR SET C2 

2 – M/S PAR SET C3 

3 – M/S PAR SET C4 

4 – M/S PAR SET C5 

5 – M/S PAR SET C6 

6 – M/S PAR SET C7 

7 – M/S PAR SET C8 

8 – M/S PAR SET C9 

9 – M/S PAR SET C10 

10 – M/S PAR SET C11 

11 – M/S PAR SET C12 

12 – M/S PAR – CONNECTING 2 RACKS 
 
* M/S PAR SET C is used for SM210-CP-150, SM500-CP-90, SM1000-CP-45 & SM1500-CP-30, but note that the cabling is different! 

 

M/S PAR Kits SM500-CP-90, SM1000-CP-45 & SM1500-CP-30 

This document is an addition to the SM15K interface manual.  
It contains instructions for the connection for Master/Slave set-ups 
using the M/S PAR assembly kits. 



PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C2

Power unitSM500-CP-90 

SM1000-CP-45

SM1500-CP-30

21 *

interface m/s gen 2int mod ms 222 *

m/s strip 1  2 unitsdwg253023

 v

cover output parallel 1dwg253224

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN93345 

nut M8 A2M8 A2 DIN93446 

washer M8 A2M8 A2 DIN125A47 

lock washer A2M8 A2 DIN127B48 

crinkle washerM8 SZ DIN137B49

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T10210 

Load cable cable lug  M8Not supplied211 

patchcable BK 0.5m RJ45CBL P SFTP 0.5 BK212

 v

cover output strips m/sDWG2560113

 v

earth cable m/sDWG2603114

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 2 units

 
  

A3

22-04-2024

S.Janse

DWG

212

Sheet 1-2

5

8
67

Master

1

4 10

11

5
9

3

97
86

* Order separately

13 14



A

B 

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 2 units

 
  

A3

22-04-2024

S.Janse

DWG

Master

+u

Sheet 2-2

SM500-CP-90 (2x)
or
SM1000-CP-45 (2x)
or
SM1500-CP-30 (2x)

Int Mod M/S 2
Position :
Slot 3 or 4



PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

MS PAR

SET C3

power unitSM500-CP-90  

SM1000-CP-45

SM1500-CP-30

31  *

interface m/s gen 2int mod ms 232  *

m/s strip 2  3 unitsdwg253123

  v

cover output parallel 1dwg253224

  v

cover output parallel 2dwg253315

  v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN93366  

nut M8 A2M8 A2 DIN93467 

washer M8 A2M8 A2 DIN125A68 

lock washer A2M8 A2 DIN127B69 

crinkle washerM8 SZ DIN137B610

  v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T10311 

Load cable  cable lug M8Not supplied212 

patchcable 0.5m RJ45CBL SFTP 0.5 BK313

  v

cover output strips m/sDWG2560214

  v

earth cable m/sDWG2603215

  v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 3 units

 
  

A3

22-04-2024

S.Janse

DWG

2

13

Sheet 1-2

4

Master

1

11

7
9

8

12

6

3

6
10

10

5

7 9 8

* Order separately

14 15



A 

B

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 3 units

 
  

A3

22-04-2024

S.Janse

DWG

Master

Sheet 2-2

u +

SM500-CP-90 (3x)
or
SM1000-CP-45 (3x)
or
SM1500-CP-30 (3x)

Int Mod M/S 2
Position :
Slot 3 or 4



 PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C4

power unitSM500-CP-90

SM1000-CP-45  

SM1500-CP-30

41 *

interface m/s gen 2int mod ms 242 *

cover output parallel 1dwg253223

 v

cover output parallel 2dwg253324

 v

m/s strip 3  4 unitsdwg253425

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN93386 

nut M8 A2M8 A2 DIN93487 

washer M8 A2M8 A2 DIN125A88 

lock washer A2M8 A2 DIN127B89 

crinkle washerM8 SZ DIN137B810

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T10411 

Load cable cable lug  M8Not supplied212 

patchcable BK 0.5m RJ45CBL P SFTP 0.5 BK313

 v

patchcable BK 1m RJ45CBL P SFTP 1 BK114

 v

cover output strips m/sDWG2560315

 v

earth cable m/sDWG2603316

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 4 units

 
  

A3

22-04-2024

S.Janse

DWG

2

13

14

Sheet 1-2

3 11

79

8

12
10

6

6

10

5

1

4

Master

8

9

7

* Order separately

15 16



A 

B 

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 4 units

 
  

A3

22-04-2024

S.Janse

DWG

Master

u +

Sheet 2-2

SM500-CP-90 (4x)
or
SM1000-CP-45 (4x)
or
SM1500-CP30 (4x)

Int Mod M/S 2
Position :
Slot 3 or 4



PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C5

power unitSM500-CP-90

SM1000-CP-45  

SM1500-CP-30

51 *

interface m/s gen 2int mod ms 252 *

cover output parallel 1dwg253223

 v

cover output parallel 2dwg253334

 v

m/s strip 4  5 unitsdwg253525

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN933106 

nut M8 A2M8 A2 DIN934107 

washer M8 A2M8 A2 DIN125A108 

lock washer A2M8 A2 DIN127B109 

crinkle washerM8 SZ DIN137B1010

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T10511 

Load cable cable lug M8Not supplied212 

patchcable BK 0.5m RJ45CBL P SFTP 0.5 BK413

 v

patchcable BK 1m RJ45CBL P SFTP 1 BK114

 v

cover output strips m/sDWG2560415

 v

earth cable m/sDWG2603416

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 5 units

 
  

A3

22-04-2024

S.Janse

DWG

2

1314

Sheet 1-2

7

9

8

12

6

10

6

10

5

143

Master

11

7

9

8

* Order separately

1516



A 

B 

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 5 units

 
  

A3

22-04-2024

S.Janse

DWG

Master

u +

Sheet 2-2

SM500-CP-90 (5x)
or
SM1000-CP-45 (5x)
or
SM1500-CP-30 (5x)

Int Mod M/S 2
Position :
Slot 3 or 4



PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C6

power unitSM500-CP-90

SM1000-CP-45  

SM1500-CP-30

61 *

interface m/s gen 2int mod ms 262 *

m/s strip 5  6 unitsdwg253623

 v

cover output parallel 1dwg253224

 v 

cover output parallel 2dwg2533
45

 v 

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN933126 

nut M8 A2M8 A2 DIN934127 

washer M8 A2M8 A2 DIN125A128 

lock washer A2M8 A2 DIN127B129 

crinkle washerM8 SZ DIN137B1210

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T10611 

Load cable cable lug M8Not supplied
412 

patchcable BK 0.5m RJ45CBL P SFTP 0.5 BK513

 v

patchcable BK 1m RJ45CBL P SFTP 1 BK114

 v

cover output strips m/sDWG2560515

 v

earth cable m/sDWG2603516

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 6 units

 
  

A3

23-04-2024

S.Janse

DWG

2

1314

Sheet 1-2

Master

1

7

9
8

12

106

4 5 11

3

8 9 7

10
6

* Order separately

15 16



A

B

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 6 units

 
  

A3

23-04-2024

S.Janse

DWG

Master

u +

Sheet 2-2

SM500-CP-90 (6x)
or
SM1000-CP-45 (6x)
or
SM1500-CP-30 (6x)

Int Mod M/S 2
Position :
Slot 3 or 4



PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C7

power unitSM500-CP-90

SM1000-CP-45  

SM1500-CP-30

71 *

interface m/s gen 2int mod ms 272 *

m/s strip 1  2 unitsdwg253023

 v

m/s strip 2  3 unitsdwg253124

 v

cover output parallel 1dwg253225

 v

cover output parallel 2dwg253356

 v

m/s strip 3  4 unitsdwg253427

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN933148 

nut M8 A2M8 A2 DIN934149 

washer M8 A2M8 A2 DIN125A1410 

lock washer A2M8 A2 DIN127B1411 

crinkle washerM8 SZ DIN137B1412

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T10713 

Load cable cable lug  M8Not supplied414 

patchcable BK 0.5m RJ45CBL P SFTP 0.5 BK615

 v

patchcable BK 1m RJ45CBL P SFTP 1 BK116

 v

cover output strips m/sDWG2560617

 v

earth cable m/sDWG2603618

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 7 units

 
  

A3

23-04-2024

S.Janse

DWG

2

15

16

Sheet 1-2

1

5 6 13

9

11

14

10

12

8

8 12

7

3

4

Master

10 11

9

* Order separately

17 18



A 

B

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 7 units

 
  

A3

23-04-2024

S.Janse

DWG

Master

Sheet 2-2

SM500-CP-90 (7x)
or
SM1000-CP-45 (7x)
or
SM1500-CP-30 (7x)

+_

Int Mod M/S 2
Position :
Slot 3 or 4



A 

A

PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C8

power unitSM500-CP-90

SM1000-CP-45  

SM1500-CP-30

81 *

interface m/s gen 2int mod ms 282 *

m/s strip 1  2 unitsdwg253023

 v

cover output parallel 1dwg253224

 v

cover output parallel 2dwg253365

 v

m/s strip 3  4 unitsdwg253446

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN933167 

nut M8 A2M8 A2 DIN934168 

washer M8 A2M8 A2 DIN125A169 

lock washer A2M8 A2 DIN127B1610 

crinkle washerM8 SZ DIN137B1611

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T10812 

Load cable cable lug  M8Not supplied413 

patchcable BK 0.5m RJ45CBL P SFTP 0.5 BK714

 v

patchcable BK 1m RJ45CBL P SFTP 1 BK115

 v

cover output strips m/sDWG2560716

 v

earth cable m/sDWG2603717

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 8 units

 
  

A3

23-04-2024

S.Janse

DWG

2

14

15

Sheet 1-2

4 5 12

7 11

810

913

Master

6 3

7 11

1

9

10
8

* Order separately

16 17



A 

B 

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 8 units

 
  

A3

23-04-2024

S.Janse

DWG

Master

Sheet 2-2

SM500-CP-90 (8x)
or
SM1000-CP-45 (8x)
or
SM1500-CP30 (8x)

+_

Int Mod M/S 2
Position :
Slot 3 or 4



A 

PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C9

power unitSM500-CP-90

SM1000-CP-45  

SM1500-CP-30

91 *

interface m/s gen 2int mod ms 292 *

m/s strip 1  2 unitsdwg253023

 v

cover output parallel 1dwg253224

 v

cover output parallel 2dwg253375

 v

m/s strip 3  4 unitsdwg253426

 v

m/s strip 4  5 unitsdwg253527

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN933188 

nut M8 A2M8 A2 DIN934189 

washer M8 A2M8 A2 DIN125A1810 

lock washer A2M8 A2 DIN127B1811 

crinkle washerM8 SZ DIN137B1812

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T10913 

Load cable cable lug  M8Not supplied414 

patchcable BL 0.5m RJ45CBL P SFTP 0.5 BK815

 v

patchcable BL 2m RJ45CBL P SFTP 2 BK116

 v

cover output strips m/sDWG2560817

 v

earth cable m/sDWG2603818

 v

A

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 9 units

 
  

A3

23-04-2024

S.Janse

DWG

2

15

16

Sheet 1-2

4 5 13 1

Master

8 12 14 10 11 9

8

12

10 11

9

6

3

7

* Order separately

17 18



B

A

B

A

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 9 units

 
  

A3

23-04-2024

S.Janse

DWG

Master

Sheet 2-2

SM500-CP-90 (9x)
or
SM1000-CP-45 (9x)
or
SM1500-CP-30 (9x)

Int Mod M/S 2
Position :
Slot 3 or 4

+-



A 

A

PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C10

power unitSM500-CP-90

SM1000-CP-45  

SM1500-CP-30

101 *

interface m/s gen 2int mod ms 2102 *

m/s strip 1  2 unitsdwg253023

 v

cover output parallel 1dwg253224

 v

cover output parallel 2dwg253385

 v

m/s strip 4  5 unitsdwg253546

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN933207 

nut M8 A2M8 A2 DIN934208 

washer M8 A2M8 A2 DIN125A209 

lock washer A2M8 A2 DIN127B2010 

crinkle washerM8 SZ DIN137B2011

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T101012 

Load cable cable lug  M8Not supplied413 

patchcable BL 0.5m RJ45CBL P SFTP 0.5 BK 914

 v

patchcable BL 2m RJ45CBL P SFTP 2 BK115

 v

cover output strips m/sDWG2560916

 v

earth cable m/sDWG2603917

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

     assembly 10 units

 
  

A3

23-04-2024

S.Janse

DWG

2

14

15

Sheet 1-2

4 5 12 1

6

810913

117

117

9

10

8

6

3

Master

* Order separately

1617



A 

B

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 10 units

 
  

A3

23-04-2024

S.Janse

DWG Sheet 2-2

SM500-CP-90 (10x)
or
SM1000-CP-45 (10x)
or
SM1500-CP-30 (10x)

Int Mod M/S 2
Position :
Slot 3 or 4

+-

Master



A

A

PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C11

power unitSM500-CP-90

SM1000-CP-45

SM1500-CP-30

111 *

interface m/s gen 2int mod ms 2112 *

m/s strip 1  2 unitsdwg253023

 v

cover output parallel 1dwg253224

 v

cover output parallel 2dwg253395

 v

m/s strip 4  5 unitsdwg253526

 v

m/s strip 5  6 unitsdwg253627

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN933228 

nut M8 A2M8 A2 DIN934229 

washer M8 A2M8 A2 DIN125A2210 

lock washer A2M8 A2 DIN127B2211 

crinkle washerM8 SZ DIN137B2212

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T101113 

cable lug  M8x50cabl lug 12mm-M8414 

patchcable BL 0.5m RJ45CBL P SFTP 0.5 BK1015

 v

patchcable 0.5m RJ45CBL P SFTP 2 BK116

 v

cover output strips m/sDWG25601017

 v

earth cable m/sDWG26031018

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 11 units

 
  

A3

23-04-2024

S.Janse

DWG

2

15

16

Sheet 1-2

4 513

1

Master

911

9

11

10128

3

7

14 10

8

12

6

* Order separately

1718



A

B

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 11 units

 
  

A3

23-04-2024

S.Janse

DWG

Master

Sheet 2-2

SM500-CP-90 (11x)
or
SM1000-CP-45 (11x)
or
SM1500-CP-30 (11x)

Int Mod M/S 2
Position :
Slot 3 or 4



A

A

PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET C12

power unitSM500-CP-90

SM1000-CP-45  

SM1500-CP-30

121 *

interface m/s gen 2int mod ms 2122 *

m/s strip 1  2 unitsdwg253023

 v

cover output parallel 1dwg253224

 v

cover output parallel 2dwg2533105

 v

m/s strip 5  6 unitsdwg253646

 v

screw M8X30 SG DIN933 10.9/Geomet-500M8x30SG DIN933247 

nut M8 A2M8 A2 DIN934248 

washer M8 A2M8 A2 DIN125A249 

lock washer A2M8 A2 DIN127B2410 

crinkle washerM8 SZ DIN137B2411

 v

D-PT 3.5x30 ro he A2 T10 selftapPT3.5x30 A2 T101212 

cable lug  M8x50cabl lug 12mm-M8413 

patchcable BL 0.5m RJ45CBL P SFTP 0.5 BK114

 v

patchcable BL 2m RJ45CBL P SFTP 2 BK115

 v

cover output strips m/sDWG25601116

 v

earth cable m/sDWG26031117

 v

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

     assembly 12 units

 
  

A3

23-04-2024

S.Janse

DWG

2

14

15

Sheet 1-2

4 5 12

7 11

13 9
10 8

117 9 10 8

3

6

6

Master

* Order separately

1617 1



A

B

A

B

Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

      assembly 12 units

 
  

A3

23-04-2024

S.Janse

DWG Sheet 2-2

SM500-CP-90 (12x)
or
SM1000-CP-45 (12x)
or
SM1500-CP-30 (12x)

Int Mod M/S 2
Position :
Slot 3 or 4

+-

Master



Revisions
Remark:

NameDate

Title:

Tol.: `0.2mm

Delta Elektronika B.V.
Vissersdijk 4

Netherlands
4301 ND Zierikzee

Mat:
Dim:

Surface treatment:

Name designer

Date

  
MASTER SLAVE

        wire diagram

 
  

A3

22-04-2024

S.Janse

DWG

+

_

To Load

+ cables

 - cables

 earth cable

Cables close together 
Equal lenght
max. lenght 2 m

Master

SM500-CP-90 (2x6 to 10 parallel units)
or
SM1000-CP-45 (2x6 to 10 parallel units)
or
SM1500-CP-30 (2x6 to 10 parallel units)

Master

Max. distance between racks 1 m
Due to communication cable


	SM15K_MS-PAR SET C 500V1500V_V202405
	Assembly master slave 2 units_1-2
	Assembly master slave 2 units_2-2
	Assembly master slave 3 units_1-2
	Assembly master slave 3 units_2-2
	Assembly master slave 4 units_1-2
	Assembly master slave 4 units_2-2
	Assembly master slave 5 units_1-2
	Assembly master slave 5 units_2-2
	Assembly master slave 6 units_1-2
	Assembly master slave 6 units_2-2
	Assembly master slave 7 units_1-2
	Assembly master slave 7 units_2-2
	Assembly master slave 8 units_1-2
	Assembly master slave 8 units_2-2
	Assembly master slave 9 units_1-2
	Assembly master slave 9 units_2-2
	Assembly master slave 10 units_1-2
	Assembly master slave 10 units_2-2
	Assembly master slave 11 units_1-2
	Assembly master slave 11 units_2-2
	Assembly master slave 12 units_1-2
	Assembly master slave 12 units_2-2
	Assembly master slave wire diagram par

